T ERTER (401)

TH4 | R7BE& @I B - e TE (1) FHEN Sy 7)1 e fes
THEX5y SRR
THX 5y - AR - R - A5 Biks HLAZ ¥ (mifal) e (4m) KR e
FIR BT
= 1
)+
= 1
A L
= 1
el TR W, B 7R AT vy b,
DL, PR ME L, Jiti THRE:5, 000m3
ES m3 2, 600
T
= 1
HE A (BEE2) R+ i e B 2. 5mAil
m3 30
BRI 301% 1 TE AW CEBE- EAIRY £ET)
m3 30
SRS
m3 30
LR T
= 1
IEEFER (B 1350) BUGH L, PE A L RO
L4 T e
m2 190
R A i) TR o 1 L, BISGHIR ML
m2 120
- e U




T

El\’([_\\

fhZe (AR01)

I=E7 TN
TH4 | R7BE& @I B - e TE (1) FHEN Sy 7)1 e fes
THEX5y SRR
THX 5y - AR - R - A5 Bikk HLAZ ¥ (mifal) e (4m) KR e
FETALE T
= 1
R B GRS EAIR Y L&)
m3 3,100
7RSSy
m3 3,100
HE AR T
= 1
E3ELT
= 1
PRAE D TE D
m3 170
HLEE L TE
m3 30
FLTHHEIE
m2 27
ST
= 1
AT
= 1
RE SRR R AR T R e, it T
F52 2 250m2 A i
m2 80
9 TR I




T

El\’([_\\

fhZe (AR01)

I=E7 TN
TH4 | R7BE& @I B - e TE (1) HEX S 7)1 e fes
THEX5y LR
THX 5y - AR - R - A5 Biks HLAZ ¥ (mifal) e (4m) KR e
BRE#E Ty s T
= 1
BEBY 7 1 7 FE I
m2 155
HhEs A
m3 101
HEAK T — B
m2 257
BGHT M= 7 U — |
m3 5
AAIED T
= 1
NS AN
m3 5
R o T
= 1
RE D7 ny) T
= 1
AR D7 vy ) RAE 7" wy ) RERE (B 1 1t, 77 ny /Rl (52
B 1t
1 168
HE[E 7™ my s HEfF 7"y ) FEAE (RS (#Ef5 7 ny), 770y
R (R ) 1 1t, 7 ny A L " s

=N

i




T

it fEae (AN01)

T=HE4 | R7BTL A B - @ wISdETE (1) XSy )1l
THEX5y LR
LXKy « LA - FR - A Hiks HL e (iR o (&) R 11 2L
i T
m3 2
G an
= 1
T HER T
= 1
THAERE T Jii 0§ 5 4. omPA |
m3 460
THAERE L - s
m3 220
K+ 5
% 100
KRBT
= 1
w7 Pk ek 145084 121200 (m3/h) i, 4
BFE: 10m, Pk 715 HREEK
A 20
K L
= 1
ta-hiE BRSOV EE 1
m 24
RE L
= 1
- D U




=Ry

EL A

H

VTR

fhZe (AR01)

TH4 | R7BE& @I B - e TE (1) FHEN Sy 7)1 e fes
THEXSy SRR
THX 5y - AR - R - A5 Bikk HAL ¥ (mifal) i (4D H S
AR B
AH 5
BB T HE
= 1
%
X 1
@R A
= 1
Hffv & ey
= 1
X 1
M@kt (G L)
= 1
il T
= 1
Bl E
X 1
TRl
= 1
— M E A
= 1
-5 - T R




T ERTER (401)

TH4 | R7BE& @I B - e TE (1) FHEN Sy 7)1 e fes
THEX5y SRR
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e

T EAfliks

= 1
THEBIRE K O 5 T e B

= 1
THEGF

= 1

=N

i



